
outer

  entry/ ao.recall()
  exit/ 
  D/ ao.recall()

inner

  entry/ ao.defer(
                 Event(signal=signals.B))
  exit/

middle

  entry/ multishot_id = \
         ao.post_fifo(Event(signal=signals.A,
                                 times=3,
                                 period=1,
                                 deferred=True)
         ao.augment(other=multishot_id,
                       name='multishot_id')
                       
  exit/ ao.cancel_event(chart.multishod_id)
  

print("charging with B")

 A

 B (print("flash B!"))

 C


